

BID2022-38 FURNISH AND DELIVERY F.O.B. OF FULL CIRCLE BANDS, COUPLINGS AND TAPPED OUT SLEEVES FOR THE CITY OF TRENTON, DEPARTMENT OF WATER AND SEWER, TRENTON WATER WORKS CONSTRUCTION AND MAINTENANCE OFFICE					
NUMBER OF RESPONDENTS:	5				
NAME OF BIDDER	FERGUSON WATER WORKS	RARITAN GROUP, INC.	CAPITOL SUPPLY CONSTRUCTION PRODUCTS, LLC	ATLANTIC PLUMBING SUPPLY CORPORATION	CORE AND MAIN LP
ADDRESS	190 OBERLIN AVENUE, N.	301 MEADOW ROAD	149 OLD TURNPIKE ROAD	702 JOLINE AVENUE	5142 WEST HURLEY POND ROAD
CITY, STATE, ZIP	LAKWOOD, NJ 08701	EDISON, NJ 08817	WAYNE, NJ 07470	LONG BRANCH, NJ 07740-5833	FARMINGDALE, NJ 07727
CONTACT NAME	JOHN MASTROGIOVANNI	MIRO GIETKA	HUGH D. MALLEY, VP	JEFFREY E. FRALLER	EDWARD ORTLIEB
TELEPHONE	848-992-2132	732-985-5000	973-627-500	732-256-9772	732-938-6370
FAX	732-202-5707	732-985-5002	973-627-1790	732-229-7948	732-938-9171
E-MAIL	JOHN.MASTROGIOVANNI@FERGUSON.COM	MIRO@RARITANGROUP.COM	HUGHMALLEY@CAPITOLSUPPLYCONSTRUCTION.COM	PMASON@GOATLANTIC.COM	ED.ORTLIEB@COREANDMAIN.COM
STATEMENT OF OWNERSHIP DISCLOSURE	INCLUDED	INCLUDED	INCLUDED	INCLUDED	INCLUDED
CERTIFICATION OF NON-DEBARMENT FOR FEDERAL GOVERNMENT CONTRACTS	INCLUDED	INCLUDED	INCLUDED	INCLUDED	INCLUDED
DISCLOSURE OF INVESTED ACTIVITIES IN IRAN	INCLUDED	INCLUDED	INCLUDED	INCLUDED	INCLUDED
ACKNOWLEDGEMENT OF RECEIPT OF ADDENDA	N/A	N/A	N/A	N/A	N/A
REQUIRED EVIDENCE AFFIRMATIVE ACTION REGULATIONS QUESTIONNAIRE	INCLUDED	INCLUDED	INCLUDED	INCLUDED	INCLUDED
NON-COLLUSION AFFIDAVIT	INCLUDED	INCLUDED	INCLUDED	INCLUDED	INCLUDED
AMERICANS WITH DISABILITIES ACT OF 1990 LANGUAGE	INCLUDED	INCLUDED	INCLUDED	INCLUDED	INCLUDED
NJ BUSINESS REGISTRATION CERTIFICATE FOR CONTRACTOR	INCLUDED	INCLUDED	REQUIRED PRIOR TO AWARD FROM VENDOR	INCLUDED	INCLUDED
EIC	CERT.#33467 EXP. 01/15/2026	CERT.#39661 EXP. 04/15/2024	REQUIRED PRIOR TO AWARD FROM VENDOR	CERT.#7989 EXP. 05/15/2024	CERT.#39386 EXP. 01/15/2025
MANDATORY EQUAL EMPLOYMENT OPPORTUNITY EXHIBIT A	INCLUDED	INCLUDED	INCLUDED	INCLUDED	INCLUDED
DEBARMENT NOTICE	INCLUDED	INCLUDED	INCLUDED	INCLUDED	INCLUDED
ETHICS COMPLAINT DISCLOSURE	INCLUDED	INCLUDED	INCLUDED	INCLUDED	INCLUDED
CERTIFICATE OF INSURANCE	REQUIRED PRIOR TO AWARD FROM VENDOR	REQUIRED PRIOR TO AWARD FROM VENDOR	REQUIRED PRIOR TO AWARD FROM VENDOR	REQUIRED PRIOR TO AWARD FROM VENDOR	REQUIRED PRIOR TO AWARD FROM VENDOR
CITY OF TRENTON RESIDENT EMPLOYMENT POLICY	INCLUDED	INCLUDED	INCLUDED	INCLUDED	INCLUDED
60-DAY EXTENSION COMPLIANCE	YES	YES	YES	YES	YES
COMPLIANCE WITH EMERGENCY SERVICES	YES	YES	YES	YES	YES
THREE (3) REFERENCES	N/A	N/A	N/A	N/A	INCLUDED
W-9	N/A	N/A	N/A	N/A	N/A
TOTAL AMOUNT FOR ITEMS#1-5	\$82,696.93 (SEE ATTACHED BREAKDOWN OF PRICING)	\$173,875.00 (SEE ATTACHED BREAKDOWN OF PRICING)	\$174,622.00 (SEE ATTACHED BREAKDOWN OF PRICING)	\$181,981.57 (SEE ATTACHED BREAKDOWN OF PRICING)	\$184,545.00 (SEE ATTACHED BREAKDOWN OF PRICING)
EXCEPTIONS (IF ANY)	NONE	NONE	NONE	NONE	NONE
FATAL FLAW	NONE	NONE	NONE	NONE	NONE

Ferguson
Waterworks

Trenton Water Works
Construction & Maintenance Office

Transition Year 2021 – Full Circle Bands, Couplings & Tapped Out Sleeves Contract

PROPOSAL:

The undersigned proposes to furnish and deliver Smith-Blair Full Circle Bands, Couplings & Tapped-Out Sleeve materials in the requested quantities as needed (F.O.B. with price for goods including the delivery with no extra freight charge line item) to the Trenton Water Works Cortland Street Yard at 333 Cortland Street, Trenton NJ.

FULL CIRCLE BANDS, COUPLINGS & TAPPED-OUT SLEEVE CONTRACT QUOTE:

Item #	Catalog #	Material Description	Unit	Qty	Unit Price	Total Price
1	226-048007-000	4" x 7 1/2" - 226 Full Circle Repair Clamp Single Band - Smith & Blair (OD: 4.74" - 5.14")	each	30	\$57.17	\$1715.10
2	226-048015-000	4" x 15" - 226 Full Circle Repair Clamp Single Band - Smith & Blair (OD: 4.74" - 5.14")	each	6	\$112.99	\$677.94
3	226-048020-000	4" x 20" - 226 Full Circle Repair Clamp Single Band - Smith & Blair (OD: 4.74" - 5.14")	each	6	\$151.75	\$910.50
4	226-069007-000	6" x 7- 1/2" - 226 Full Circle Repair Clamp Single Band - Smith & Blair (OD: 6.84" - 7.24")	each	75	\$67.45	\$5058.75
5	226-069015-000	6" x 15" - 226 Full Circle Repair Clamp Single Band - Smith & Blair (OD: 6.84" - 7.24")	each	6	\$125.38	\$752.28
6	226-069020-000	6" x 20" - 226 Full Circle Repair Clamp Single Band - Smith & Blair (OD: 6.84" - 7.24")	each	6	\$181.68	\$1090.08
7	226-090507-000	8" x 7- 1/2" - 226 Full Circle Repair Clamp Single Band - Smith & Blair (OD: 8.99" - 9.39")	each	30	\$80.69	\$2420.70
8	226-090512-000	8" x 12-1/2" - 226 Full Circle Repair Clamp Single Band - Smith & Blair (OD: 8.99" - 9.39")	each	6	\$129.21	\$775.26
9	226-090515-000	8 X 15 - 226 Full Circle Repair Clamp Single Band - Smith & Blair (OD: 8.99" - 9.39")	each	6	\$154.03	\$924.18
10	226-090520-000	8" x 20" - 226 Full Circle Repair Clamp Single Band - Smith & Blair (OD: 8.99" - 9.39")	each	6	\$213.29	\$1279.74
11	226-111015-000	10" x 15" - 226 Full Circle Repair Clamp Single Band - Smith & Blair (OD: 11.04" - 11.44")	each	4	\$192.30	\$769.20
12	226-111007-000	10" x 7 1/2" - 226 Full Circle Repair Clamp Single Band - Smith & Blair (OD: 11.04" - 11.44")	each	12	\$98.20	\$1178.40
13	226-111020-000	10" x 20" - 226 Full Circle Repair Clamp Single Band - Smith & Blair (OD: 11.04" - 11.44")	each	2	\$257.03	\$514.06
14	226-132007-000	12" x 7- 1/2" 226 Full Circle Band - Smith & Blair (OD: 13.10" - 13.50")	each	6	\$110.80	\$664.80
15	226-132015-000	12" x 15" - 226 Full Circle Band - Smith & Blair (OD: 13.10" - 13.50")	each	6	\$221.55	\$1329.30
16	228-20171520-000	16" x 20" - 228 Full Circle Repair Clamp Single Band - Smith & Blair (OD: 17.15." - 17.90")	each	4	\$555.19	\$2220.76
17	441-00000510-900	4" Coupling - 441 Smith & Blair (OD: 4.80" - 5.10")	each	30	\$55.89	\$1676.70
18	441-00000722-900	6" Coupling - 441 Smith & Blair (OD: 6.90" - 7.22")	each	50	\$71.68	\$3584.00
19	441-09450800-900	8" Coupling - 441 Smith & Blair (OD: 9.05" - 9.45")	each	50	\$90.61	\$4530.50
20	441-11601000-900	10" Coupling - 441 Smith & Blair (OD: 11.10" - 11.60")	each	10	\$143.27	\$1432.70
21	441-00001350-900	12" Coupling - 441 Smith & Blair (OD: 13.20" - 13.50")	each	20	\$196.92	\$3938.40

Trenton Water Works
Construction & Maintenance Office
Transition Year 2021 – Full Circle Bands, Couplings & Tapped Out Sleeves Contract

FULL CIRCLE BANDS, COUPLINGS & TAPPED-OUT SLEEVE CONTRACT QUOTE:

Item #	Catalog #	Material Description	Unit	Qty	Unit Price	Total Price
22	441-00001780-900	16" Coupling - 441 Smith & Blair (OD: 17.40" - 17.80")	each	24	\$378.28	\$9078.72
23	411-216008-003	20" Coupling - 411 Smith & Blair (OD: 21.60")	each	4	\$504.30	\$2017.20
24	411-258008-003	24" Coupling - 411 Smith & Blair (OD: 25.80")	each	4	\$599.84	\$2399.36
25	411-00383008-003	36" Coupling - 411 Smith & Blair (OD: 38.30")	each	2	\$3037.31	\$6074.62
26	411-00508015-003	48" Coupling - 411 Smith & Blair (OD: 50.80")	each	2	\$5232.26	\$10464.52
27	238-048007-007	4" x 7 1/2" w 3/4"cc Tapped Full Cir. Clamp - 238 Smith & Blair (OD: 4.74" - 5.14")	each	24	\$84.48	\$2027.52
28	238-048007-009	4" x 7 1/2" 1"cc Tapped Full Cir. Clamp - 238 Smith & Blair (OD: 4.74" - 5.14")	each	12	\$84.48	\$1013.76
29	238-069007-007	6" x 7 1/2" w 3/4"cc Tapped Full Cir. Clamp - 238 Smith & Blair (OD: 6.84" - 7.24")	each	30	\$94.76	\$2842.80
30	238-069007-009	6" x 7 1/2" w 1"cc Tapped Full Cir. Clamp - 238 Smith & Blair (OD: 6.84" - 7.24")	each	20	\$94.76	\$1895.20
31	238-090507-007	8" x 7 1/2" w 3/4"cc Tapped Full Cir. Clamp - 238 Smith & Blair (OD: 8.99" - 9.39")	each	20	\$108.00	\$2160.00
32	238-090507-009	8" x 7 1/2" w 1"cc Tapped Full Cir. Clamp - 238 Smith & Blair (OD: 8.99" - 9.39")	each	10	\$108.00	\$1080.00
32	238-111007-007	10" x 7 1/2" w 3/4"cc Tapped Full Cir. Clamp - 238 Smith & Blair (OD: 11.04" - 11.44")	each	6	\$125.51	\$753.06
34	238-111007-009	10" x 7 1/2" w 1"cc Tapped Full Cir. Clamp - 238 Smith & Blair (OD: 11.04" - 11.44")	each	6	\$125.51	\$753.06
35	239-127512-007	12" x 12-1/2" w 3/4"cc Tapped Full Cir. Clamp - 239 Smith & Blair (OD: 12.75" - 13.55")	each	6	\$224.48	\$1346.88
36	239-127512-009	12" x 12-1/2" w 1"cc Tapped Full Cir. Clamp - 239 Smith & Blair (OD: 12.75" - 13.55")	each	6	\$224.48	\$1346.88
Grand Total >>						\$82696.93

\$82,696.93

Trenton Water Works
Construction & Maintenance Office

Transition Year 2021 – Full Circle Bands, Couplings & Tapped Out Sleeves Contract

Raritan
Gray, Inc

PROPOSAL:

The undersigned proposes to furnish and deliver Smith-Blair Full Circle Bands, Couplings & Tapped-Out Sleeve materials in the requested quantities as needed (F.O.B. with price for goods including the delivery with no extra freight charge line item) to the Trenton Water Works Cortland Street Yard at 333 Cortland Street, Trenton NJ.

FULL CIRCLE BANDS, COUPLINGS & TAPPED-OUT SLEEVE CONTRACT QUOTE:

Item #	Catalog #	Material Description	Unit	Qty	Unit Price	Total Price
1	226-048007-000	4" x 7 1/2" - 226 Full Circle Repair Clamp Single Band - Smith & Blair (OD: 4.74" - 5.14")	each	30	132.52	3,975.00
2	226-048015-000	4" x 15" - 226 Full Circle Repair Clamp Single Band - Smith & Blair (OD: 4.74" - 5.14")	each	6	201.98	1,211.88
3	226-048020-000	4" x 20" - 226 Full Circle Repair Clamp Single Band - Smith & Blair (OD: 4.74" - 5.14")	each	6	351.85	2,111.10
4	226-069007-000	6" x 7- 1/2" - 226 Full Circle Repair Clamp Single Band - Smith & Blair (OD: 6.84" - 7.24")	each	75	155.58	11,668.50
5	226-069015-000	6" x 15" - 226 Full Circle Repair Clamp Single Band - Smith & Blair (OD: 6.84" - 7.24")	each	6	200.70	1,204.20
6	226-069020-000	6" x 20" - 226 Full Circle Repair Clamp Single Band - Smith & Blair (OD: 6.84" - 7.24")	each	6	421.22	2,527.32
7	226-090507-000	8" x 7- 1/2" - 226 Full Circle Repair Clamp Single Band - Smith & Blair (OD: 8.99" - 9.39")	each	30	187.10	5,613.00
8	226-090512-000	8" x 12-1/2" - 226 Full Circle Repair Clamp Single Band - Smith & Blair (OD: 8.99" - 9.39")	each	6	209.00	1,254.00
9	226-090515-000	8 X 15 - 226 Full Circle Repair Clamp Single Band - Smith & Blair (OD: 8.99" - 9.39")	each	6	357.00	2,142.00
10	226-090520-000	8" x 20" - 226 Full Circle Repair Clamp Single Band - Smith & Blair (OD: 8.99" - 9.39")	each	6	404.58	2,427.48
11	226-111015-000	10" x 15" - 226 Full Circle Repair Clamp Single Band - Smith & Blair (OD: 11.04" - 11.44")	each	4	445.79	1,783.16
12	226-111007-000	10" x 7 1/2" - 226 Full Circle Repair Clamp Single Band - Smith & Blair (OD: 11.04" - 11.44")	each	12	223.03	2,676.36
13	226-111020-000	10" x 20" - 226 Full Circle Repair Clamp Single Band - Smith & Blair (OD: 11.04" - 11.44")	each	2	583.71	1,167.42
14	226-132007-000	12" x 7- 1/2" 226 Full Circle Band - Smith & Blair (OD: 13.10" - 13.50")	each	6	251.55	1,509.30
15	226-132015-000	12" x 15" - 226 Full Circle Band - Smith & Blair (OD: 13.10" - 13.50")	each	6	513.66	3,081.96
16	228-20171520-000	16" x 20" - 228 Full Circle Repair Clamp Single Band - Smith & Blair (OD: 17.15." - 17.90")	each	4	1447.00	5,790.40
17	441-00000510-900	4" Coupling - 441 Smith & Blair (OD: 4.80" - 5.10")	each	30	146.17	4,385.10
18	441-00000722-900	6" Coupling - 441 Smith & Blair (OD: 6.90" - 7.22")	each	50	187.46	9,373.00
19	441-09450800-900	8" Coupling - 441 Smith & Blair (OD: 9.05" - 9.45")	each	50	203.80	10,190.00
20	441-11601000-900	10" Coupling - 441 Smith & Blair (OD: 11.10" - 11.60")	each	10	329.02	3,290.20
21	441-00001350-900	12" Coupling - 441 Smith & Blair (OD: 13.20" - 13.50")	each	20	398.02	7,972.40

Trenton Water Works
Construction & Maintenance Office
Transition Year 2021 – Full Circle Bands, Couplings & Tapped Out Sleeves Contract

FULL CIRCLE BANDS, COUPLINGS & TAPPED-OUT SLEEVE CONTRACT QUOTE:						
Item #	Catalog #	Material Description	Unit	Qty	Unit Price	Total Price
22	441-00001780-900	16" Coupling - 441 Smith & Blair (OD: 17.40" - 17.80")	each	24	880.32	21,271.16
23	411-216008-003	20" Coupling - 411 Smith & Blair (OD: 21.60")	each	4	1,505.30	6,021.20
24	411-258008-003	24" Coupling - 411 Smith & Blair (OD: 25.80")	each	4	1,744.70	6,979.04
25	411-00383008-003	36" Coupling - 411 Smith & Blair (OD: 38.30")	each	2	2,378.04	4,756.08
26	411-00508015-003	48" Coupling - 411 Smith & Blair (OD: 50.80")	each	2	4,054.04	8,108.08
27	238-048007-007	4" x 7 1/2" w 3/4" cc Tapped Full Cir. Clamp - 238 Smith & Blair (OD: 4.74" - 5.14")	each	24	191.80	4,103.20
28	238-048007-009	4" x 7 1/2" 1" cc Tapped Full Cir. Clamp - 238 Smith & Blair (OD: 4.74" - 5.14")	each	12	195.84	2,350.08
29	238-069007-007	6" x 7 1/2" w 3/4" cc Tapped Full Cir. Clamp - 238 Smith & Blair (OD: 6.84" - 7.24")	each	30	219.70	6,591.00
30	238-069007-009	6" x 7 1/2" w 1" cc Tapped Full Cir. Clamp - 238 Smith & Blair (OD: 6.84" - 7.24")	each	20	219.70	4,394.00
31	238-090507-007	8" x 7 1/2" w 3/4" cc Tapped Full Cir. Clamp - 238 Smith & Blair (OD: 8.99" - 9.39")	each	20	250.43	5,008.60
32	238-090507-009	8" x 7 1/2" w 1" cc Tapped Full Cir. Clamp - 238 Smith & Blair (OD: 8.99" - 9.39")	each	10	250.43	2,504.30
32	238-111007-007	10" x 7 1/2" w 3/4" cc Tapped Full Cir. Clamp - 238 Smith & Blair (OD: 11.04" - 11.44")	each	6	285.04	1,710.24
34	238-111007-009	10" x 7 1/2" w 1" cc Tapped Full Cir. Clamp - 238 Smith & Blair (OD: 11.04" - 11.44")	each	6	285.04	1,710.24
35	239-127512-007	12" x 12-1/2" w 3/4" cc Tapped Full Cir. Clamp - 239 Smith & Blair (OD: 12.75" - 13.55")	each	6	627.44	3,764.64
36	239-127512-009	12" x 12-1/2" w 1" cc Tapped Full Cir. Clamp - 239 Smith & Blair (OD: 12.75" - 13.55")	each	6	627.44	3,764.64
Grand Total >>						173,875.00

Trenton Water Works
Construction & Maintenance Office
Transition Year 2021 – Full Circle Bands, Couplings & Tapped Out Sleeves Contract

Capitol Supply

PROPOSAL:

The undersigned proposes to furnish and deliver Smith-Blair Full Circle Bands, Couplings & Tapped-Out Sleeve materials in the requested quantities as needed (F.O.B. with price for goods including the delivery with no extra freight charge line item) to the Trenton Water Works Cortland Street Yard at 333 Cortland Street, Trenton NJ.

FULL CIRCLE BANDS, COUPLINGS & TAPPED-OUT SLEEVE CONTRACT QUOTE:

Item #	Catalog #	Material Description	Unit	Qty	Unit Price	Total Price
1	226-048007-000	4" x 7 1/2" - 226 Full Circle Repair Clamp Single Band - Smith & Blair (OD: 4.74" - 5.14")	each	30	132 -	3960 -
2	226-048015-000	4" x 15" - 226 Full Circle Repair Clamp Single Band - Smith & Blair (OD: 4.74" - 5.14")	each	6	262 -	1572 -
3	226-048020-000	4" x 20" - 226 Full Circle Repair Clamp Single Band - Smith & Blair (OD: 4.74" - 5.14")	each	6	352 -	2112 -
4	226-069007-000	6" x 7- 1/2" - 226 Full Circle Repair Clamp Single Band - Smith & Blair (OD: 6.84" - 7.24")	each	75	156 -	11700 -
5	226-069015-000	6" x 15" - 226 Full Circle Repair Clamp Single Band - Smith & Blair (OD: 6.84" - 7.24")	each	6	291 -	1746 -
6	226-069020-000	6" x 20" - 226 Full Circle Repair Clamp Single Band - Smith & Blair (OD: 6.84" - 7.24")	each	6	421	2526 -
7	226-090507-000	8" x 7- 1/2" - 226 Full Circle Repair Clamp Single Band - Smith & Blair (OD: 8.99" - 9.39")	each	30	188 -	5640 -
8	226-090512-000	8" x 12-1/2" - 226 Full Circle Repair Clamp Single Band - Smith & Blair (OD: 8.99" - 9.39")	each	6	299 -	1794 -
9	226-090515-000	8 X 15 - 226 Full Circle Repair Clamp Single Band - Smith & Blair (OD: 8.99" - 9.39")	each	6	357 -	2142 -
10	226-090520-000	8" x 20" - 226 Full Circle Repair Clamp Single Band - Smith & Blair (OD: 8.99" - 9.39")	each	6	494	2964 -
11	226-111015-000	10" x 15" - 226 Full Circle Repair Clamp Single Band - Smith & Blair (OD: 11.04" - 11.44")	each	4	445	1780 -
12	226-111007-000	10" x 7 1/2" - 226 Full Circle Repair Clamp Single Band - Smith & Blair (OD: 11.04" - 11.44")	each	12	227	2724 -
13	226-111020-000	10" x 20" - 226 Full Circle Repair Clamp Single Band - Smith & Blair (OD: 11.04" - 11.44")	each	2	596 -	1192 -
14	226-132007-000	12" x 7- 1/2" 226 Full Circle Band - Smith & Blair (OD: 13.10" - 13.50")	each	6	256 -	1536 -
15	226-132015-000	12" x 15" - 226 Full Circle Band - Smith & Blair (OD: 13.10" - 13.50")	each	6	513 -	3078 -
16	228-20171520-000	16" x 20" - 228 Full Circle Repair Clamp Single Band - Smith & Blair (OD: 17.15." - 17.90")	each	4	1447 -	5788 -
17	441-00000510-900	4" Coupling - 441 Smith & Blair (OD: 4.80" - 5.10")	each	30	146 -	4380 -
18	441-00000722-900	6" Coupling - 441 Smith & Blair (OD: 6.90" - 7.22")	each	50	187	9350
19	441-09450800-900	8" Coupling - 441 Smith & Blair (OD: 9.05" - 9.45")	each	50	263	13150 -
20	441-11601000-900	10" Coupling - 441 Smith & Blair (OD: 11.10" - 11.60")	each	10	329	3290 -
21	441-00001350-900	12" Coupling - 441 Smith & Blair (OD: 13.20" - 13.50")	each	20	398 -	7960 -

Trenton Water Works
Construction & Maintenance Office
Transition Year 2021 – Full Circle Bands, Couplings & Tapped Out Sleeves Contract

FULL CIRCLE BANDS, COUPLINGS & TAPPED-OUT SLEEVE CONTRACT QUOTE:						
Item #	Catalog #	Material Description	Unit	Qty	Unit Price	Total Price
22	441-00001780-900	16" Coupling - 441 Smith & Blair (OD: 17.40" - 17.80")	each	24	886 -	21264 -
23	411-216008-003	20" Coupling - 411 Smith & Blair (OD: 21.60")	each	4	1536 -	6144 -
24	411-258008-003	24" Coupling - 411 Smith & Blair (OD: 25.80")	each	4	1781 -	7124 -
25	411-00383008-003	36" Coupling - 411 Smith & Blair (OD: 38.30")	each	2	2428 -	4856 -
26	411-00508015-003	48" Coupling - 411 Smith & Blair (OD: 50.80")	each	2	4139 -	8278 -
27	238-048007-007	4" x 7 1/2" w 3/4"cc Tapped Full Cir. Clamp - 238 Smith & Blair (OD: 4.74" - 5.14")	each	24	196 -	4704 -
28	238-048007-009	4" x 7 1/2" 1"cc Tapped Full Cir. Clamp - 238 Smith & Blair (OD: 4.74" - 5.14")	each	12	196 -	4704 -
29	238-069007-007	6" x 7 1/2" w 3/4"cc Tapped Full Cir. Clamp - 238 Smith & Blair (OD: 6.84" - 7.24")	each	30	220 -	6600 -
30	238-069007-009	6" x 7 1/2" w 1"cc Tapped Full Cir. Clamp - 238 Smith & Blair (OD: 6.84" - 7.24")	each	20	220 -	4400 -
31	238-090507-007	8" x 7 1/2" w 3/4"cc Tapped Full Cir. Clamp - 238 Smith & Blair (OD: 8.99" - 9.39")	each	20	250 -	5000 -
32	238-090507-009	8" x 7 1/2" w 1"cc Tapped Full Cir. Clamp - 238 Smith & Blair (OD: 8.99" - 9.39")	each	10	250 -	2500 -
32	238-111007-007	10" x 7 1/2" w 3/4"cc Tapped Full Cir. Clamp - 238 Smith & Blair (OD: 11.04" - 11.44")	each	6	291 -	1746 -
34	238-111007-009	10" x 7 1/2" w 1"cc Tapped Full Cir. Clamp - 238 Smith & Blair (OD: 11.04" - 11.44")	each	6	291 -	1746 -
35	239-127512-007	12" x 12-1/2" w 3/4"cc Tapped Full Cir. Clamp - 239 Smith & Blair (OD: 12.75" - 13.55")	each	6	627 -	3762 -
36	239-127512-009	12" x 12-1/2" w 1"cc Tapped Full Cir. Clamp - 239 Smith & Blair (OD: 12.75" - 13.55")	each	6	627 -	3762 -
Grand Total >>						174,622.00



Trenton Water Works
Construction & Maintenance Office

Transition Year 2021 – Full Circle Bands, Couplings & Tapped Out Sleeves Contract

*Atlantic
Plumbing*

PROPOSAL:

The undersigned proposes to furnish and deliver Smith-Blair Full Circle Bands, Couplings & Tapped-Out Sleeve materials in the requested quantities as needed (F.O.B. with price for goods including the delivery with no extra freight charge line item) to the Trenton Water Works Cortland Street Yard at 333 Cortland Street, Trenton NJ.

FULL CIRCLE BANDS, COUPLINGS & TAPPED-OUT SLEEVE CONTRACT QUOTE:

Item #	Catalog #	Material Description	Unit	Qty	Unit Price	Total Price
1	226-048007-000	4" x 7 1/2" - 226 Full Circle Repair Clamp Single Band - Smith & Blair (OD: 4.74" - 5.14")	each	30	138.00	4140.00
2	226-048015-000	4" x 15" - 226 Full Circle Repair Clamp Single Band - Smith & Blair (OD: 4.74" - 5.14")	each	6	272.85	1,637.10
3	226-048020-000	4" x 20" - 226 Full Circle Repair Clamp Single Band - Smith & Blair (OD: 4.74" - 5.14")	each	6	366.41	2,198.46
4	226-069007-000	6" x 7- 1/2" - 226 Full Circle Repair Clamp Single Band - Smith & Blair (OD: 6.84" - 7.24")	each	75	162.87	12,215.25
5	226-069015-000	6" x 15" - 226 Full Circle Repair Clamp Single Band - Smith & Blair (OD: 6.84" - 7.24")	each	6	302.73	1,816.38
6	226-069020-000	6" x 20" - 226 Full Circle Repair Clamp Single Band - Smith & Blair (OD: 6.84" - 7.24")	each	6	438.65	2,631.90
7	226-090507-000	8" x 7- 1/2" - 226 Full Circle Repair Clamp Single Band - Smith & Blair (OD: 8.99" - 9.39")	each	30	194.85	5,845.50
8	226-090512-000	8" x 12-1/2" - 226 Full Circle Repair Clamp Single Band - Smith & Blair (OD: 8.99" - 9.39")	each	6	312.01	1,872.06
9	226-090515-000	8 X 15 - 226 Full Circle Repair Clamp Single Band - Smith & Blair (OD: 8.99" - 9.39")	each	6	371.78	2,230.68
10	226-090520-000	8" x 20" - 226 Full Circle Repair Clamp Single Band - Smith & Blair (OD: 8.99" - 9.39")	each	6	515.06	3,090.36
11	226-111015-000	10" x 15" - 226 Full Circle Repair Clamp Single Band - Smith & Blair (OD: 11.04" - 11.44")	each	4	464.25	1,857.00
12	226-111007-000	10" x 7 1/2" - 226 Full Circle Repair Clamp Single Band - Smith & Blair (OD: 11.04" - 11.44")	each	12	237.14	2,845.68
13	226-111020-000	10" x 20" - 226 Full Circle Repair Clamp Single Band - Smith & Blair (OD: 11.04" - 11.44")	each	2	620.66	1,241.32
14	226-132007-000	12" x 7- 1/2" 226 Full Circle Band - Smith & Blair (OD: 13.10" - 13.50")	each	6	267.50	1,605.00
15	226-132015-000	12" x 15" - 226 Full Circle Band - Smith & Blair (OD: 13.10" - 13.50")	each	6	534.92	3,209.52
16	228-20171520-000	16" x 20" - 228 Full Circle Repair Clamp Single Band - Smith & Blair (OD: 17.15." - 17.90")	each	4	1,507.52	6,030.08
17	441-00000510-900	4" Coupling - 441 Smith & Blair (OD: 4.80" - 5.10")	each	30	152.22	4,566.60
18	441-00000722-900	6" Coupling - 441 Smith & Blair (OD: 6.90" - 7.22")	each	50	195.22	9,761.00
19	441-09450800-900	8" Coupling - 441 Smith & Blair (OD: 9.05" - 9.45")	each	50	274.75	13,737.50
20	441-11601000-900	10" Coupling - 441 Smith & Blair (OD: 11.10" - 11.60")	each	10	342.63	3,426.30
21	441-00001350-900	12" Coupling - 441 Smith & Blair (OD: 13.20" - 13.50")	each	20	415.11	8,302.20

Trenton Water Works
Construction & Maintenance Office
Transition Year 2021 – Full Circle Bands, Couplings & Tapped Out Sleeves Contract

FULL CIRCLE BANDS, COUPLINGS & TAPPED-OUT SLEEVE CONTRACT QUOTE:

Item #	Catalog #	Material Description	Unit	Qty	Unit Price	Total Price
22	441-00001780-900	16" Coupling - 441 Smith & Blair (OD: 17.40" - 17.80")	each	24	923.00	22,152.00
23	411-216008-003	20" Coupling - 411 Smith & Blair (OD: 21.60")	each	4	1,600.60	6,402.40
24	411-258008-003	24" Coupling - 411 Smith & Blair (OD: 25.80")	each	4	1,855.25	7,421.00
25	411-00383008-003	36" Coupling - 411 Smith & Blair (OD: 38.30")	each	2	2,528.60	5,057.20
26	411-00508015-003	48" Coupling - 411 Smith & Blair (OD: 50.80")	each	2	4,301.75	8,603.50
27	238-048007-007	4" x 7 1/2" w 3/4"cc Tapped Full Cir. Clamp - 238 Smith & Blair (OD: 4.74" - 5.14")	each	24	204.00	4,896.00
28	238-048007-009	4" x 7 1/2" 1"cc Tapped Full Cir. Clamp - 238 Smith & Blair (OD: 4.74" - 5.14")	each	12	204.00	2,448.00
29	238-069007-007	6" x 7 1/2" w 3/4"cc Tapped Full Cir. Clamp - 238 Smith & Blair (OD: 6.84" - 7.24")	each	30	228.79	6,864.00
30	238-069007-009	6" x 7 1/2" w 1"cc Tapped Full Cir. Clamp - 238 Smith & Blair (OD: 6.84" - 7.24")	each	20	228.80	4,576.00
31	238-090507-007	8" x 7 1/2" w 3/4"cc Tapped Full Cir. Clamp - 238 Smith & Blair (OD: 8.99" - 9.39")	each	20	260.79	5,215.80
32	238-090507-009	8" x 7 1/2" w 1"cc Tapped Full Cir. Clamp - 238 Smith & Blair (OD: 8.99" - 9.39")	each	10	260.79	2,607.90
32A	238-111007-007	10" x 7 1/2" w 3/4"cc Tapped Full Cir. Clamp - 238 Smith & Blair (OD: 11.04" - 11.44")	each	6	303.09	1,818.54
34	238-111007-009	10" x 7 1/2" w 1"cc Tapped Full Cir. Clamp - 238 Smith & Blair (OD: 11.04" - 11.44")	each	6	303.09	1,818.54
35	239-127512-007	12" x 12-1/2" w 3/4"cc Tapped Full Cir. Clamp - 239 Smith & Blair (OD: 12.75" - 13.55")	each	6	653.40	3,920.40
36	239-127512-009	12" x 12-1/2" w 1"cc Tapped Full Cir. Clamp - 239 Smith & Blair (OD: 12.75" - 13.55")	each	6	653.40	3,920.40
Grand Total >>						\$181,981.57



Trenton Water Works
Construction & Maintenance Office

Colc
Main

Transition Year 2021 – Full Circle Bands, Couplings & Tapped Out Sleeves Contract

PROPOSAL:

The undersigned proposes to furnish and deliver Smith-Blair Full Circle Bands, Couplings & Tapped-Out Sleeve materials in the requested quantities as needed (F.O.B. with price for goods including the delivery with no extra freight charge line item) to the Trenton Water Works Cortland Street Yard at 333 Cortland Street, Trenton NJ.

FULL CIRCLE BANDS, COUPLINGS & TAPPED-OUT SLEEVE CONTRACT QUOTE:

Item #	Catalog #	Material Description	Unit	Qty	Unit Price	Total Price
1	226-048007-000	4" x 7 1/2" - 226 Full Circle Repair Clamp Single Band - Smith & Blair (OD: 4.74" - 5.14")	each	30	138.00	4,140.00
2	226-048015-000	4" x 15" - 226 Full Circle Repair Clamp Single Band - Smith & Blair (OD: 4.74" - 5.14")	each	6	282.00	1,692.00
3	226-048020-000	4" x 20" - 226 Full Circle Repair Clamp Single Band - Smith & Blair (OD: 4.74" - 5.14")	each	6	379.00	2,274.00
4	226-069007-000	6" x 7- 1/2" - 226 Full Circle Repair Clamp Single Band - Smith & Blair (OD: 6.84" - 7.24")	each	75	163.00	12,225.00
5	226-069015-000	6" x 15" - 226 Full Circle Repair Clamp Single Band - Smith & Blair (OD: 6.84" - 7.24")	each	6	313.00	1,878.00
6	226-069020-000	6" x 20" - 226 Full Circle Repair Clamp Single Band - Smith & Blair (OD: 6.84" - 7.24")	each	6	454.00	2,724.00
7	226-090507-000	8" x 7- 1/2" - 226 Full Circle Repair Clamp Single Band - Smith & Blair (OD: 8.99" - 9.39")	each	30	195.00	5,850.00
8	226-090512-000	8" x 12-1/2" - 226 Full Circle Repair Clamp Single Band - Smith & Blair (OD: 8.99" - 9.39")	each	6	323.00	1,938.00
9	226-090515-000	8 X 15 - 226 Full Circle Repair Clamp Single Band - Smith & Blair (OD: 8.99" - 9.39")	each	6	385.00	2,310.00
10	226-090520-000	8" x 20" - 226 Full Circle Repair Clamp Single Band - Smith & Blair (OD: 8.99" - 9.39")	each	6	533.00	3,198.00
11	226-111015-000	10" x 15" - 226 Full Circle Repair Clamp Single Band - Smith & Blair (OD: 11.04" - 11.44")	each	4	480.00	1,920.00
12	226-111007-000	10" x 7 1/2" - 226 Full Circle Repair Clamp Single Band - Smith & Blair (OD: 11.04" - 11.44")	each	12	237.00	2,844.00
13	226-111020-000	10" x 20" - 226 Full Circle Repair Clamp Single Band - Smith & Blair (OD: 11.04" - 11.44")	each	2	643.00	1,286.00
14	226-132007-000	12" x 7- 1/2" 226 Full Circle Band - Smith & Blair (OD: 13.10" - 13.50")	each	6	277.00	1,662.00
15	226-132015-000	12" x 15" - 226 Full Circle Band - Smith & Blair (OD: 13.10" - 13.50")	each	6	554.00	3,324.00
16	228-20171520-000	16" x 20" - 228 Full Circle Repair Clamp Single Band - Smith & Blair (OD: 17.15." - 17.90")	each	4	1,562.00	6,248.00
17	441-00000510-900	4" Coupling - 441 Smith & Blair (OD: 4.80" - 5.10")	each	30	152.00	4,560.00
18	441-00000722-900	6" Coupling - 441 Smith & Blair (OD: 6.90" - 7.22")	each	50	195.00	9,750.00
19	441-09450800-900	8" Coupling - 441 Smith & Blair (OD: 9.05" - 9.45")	each	50	275.00	13,750.00
20	441-11601000-900	10" Coupling - 441 Smith & Blair (OD: 11.10" - 11.60")	each	10	343.00	3,430.00
21	441-00001350-900	12" Coupling - 441 Smith & Blair (OD: 13.20" - 13.50")	each	20	416.00	8,320.00

Trenton Water Works
Construction & Maintenance Office
Transition Year 2021 – Full Circle Bands, Couplings & Tapped Out Sleeves Contract

FULL CIRCLE BANDS, COUPLINGS & TAPPED-OUT SLEEVE CONTRACT QUOTE:						
Item #	Catalog #	Material Description	Unit	Qty	Unit Price	Total Price
22	441-00001780-900	16" Coupling - 441 Smith & Blair (OD: 17.40" - 17.80")	each	24	925.00	22,200.00
23	411-216008-003	20" Coupling - 411 Smith & Blair (OD: 21.60")	each	4	1,659.00	6,636.00
24	411-258008-003	24" Coupling - 411 Smith & Blair (OD: 25.80")	each	4	1,923.00	7,692.00
25	411-00383008-003	36" Coupling - 411 Smith & Blair (OD: 38.30")	each	2	2,621.00	5,242.00
26	411-00508015-003	48" Coupling - 411 Smith & Blair (OD: 50.80")	each	2	4,468.00	8,936.00
27	238-048007-007	4" x 7 1/2" w 3/4"cc Tapped Full Cir. Clamp - 238 Smith & Blair (OD: 4.74" - 5.14")	each	24	204.00	4,896.00
28	238-048007-009	4" x 7 1/2" 1"cc Tapped Full Cir. Clamp - 238 Smith & Blair (OD: 4.74" - 5.14")	each	12	204.00	2,448.00
29	238-069007-007	6" x 7 1/2" w 3/4"cc Tapped Full Cir. Clamp - 238 Smith & Blair (OD: 6.84" - 7.24")	each	30	229.00	6,870.00
30	238-069007-009	6" x 7 1/2" w 1"cc Tapped Full Cir. Clamp - 238 Smith & Blair (OD: 6.84" - 7.24")	each	20	229.00	4,580.00
31	238-090507-007	8" x 7 1/2" w 3/4"cc Tapped Full Cir. Clamp - 238 Smith & Blair (OD: 8.99" - 9.39")	each	20	261.00	5,220.00
32	238-090507-009	8" x 7 1/2" w 1"cc Tapped Full Cir. Clamp - 238 Smith & Blair (OD: 8.99" - 9.39")	each	10	261.00	2,610.00
32	238-111007-007	10" x 7 1/2" w 3/4"cc Tapped Full Cir. Clamp - 238 Smith & Blair (OD: 11.04" - 11.44")	each	6	314.00	1,884.00
34	238-111007-009	10" x 7 1/2" w 1"cc Tapped Full Cir. Clamp - 238 Smith & Blair (OD: 11.04" - 11.44")	each	6	314.00	1,884.00
35	239-127512-007	12" x 12-1/2" w 3/4"cc Tapped Full Cir. Clamp - 239 Smith & Blair (OD: 12.75" - 13.55")	each	6	677.00	4,062.00
36	239-127512-009	12" x 12-1/2" w 1"cc Tapped Full Cir. Clamp - 239 Smith & Blair (OD: 12.75" - 13.55")	each	6	677.00	4,062.00
Grand Total >>						184,545.00